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26 F te Q B 4tb.
26 Q toIC Rt Oth.
~21 X to K B Sq.
28 Q te K B 'flh. (ch)
29 N te XKRt 2d.
30 Q R te K R Pq.
31 NKte R Sa.
32 K Rt te K B 4thi.
33 Q to Q B 7th.
34 R tel KRt 4th. (i)
35 p' to K B 3d. (À-)
30 P takes B.
37 R te K Kt sq. (1)
38 K takes B.
29 Xte XR 5th.

P te Q R 4th.
Q te K 4th. (ch)
B to Q R 3d.
X to R sq.
B takes Q BP.
Q te R Kt 4th. (ch)
B3 te R 7th.

B1 t K R 4ti. (9)
QB te K Kt 3d. (h)

Q B te R B 4th.
B takes R R. (ch)
Q R te R B sq.
Q te K 6Lh. (ch)
Q takes R.

White mates in tbree moves.

NYotes.

(a) This is a novel move in this opening.

(b) .A very bad nmove.

(C) White made a serious mistake in takini (bis
P Bo sooni as hoe losEs at least twomoecs, besides
subjecting hinself to an attack which one would
thiuk oughit to have won the Camne.

(d) Castling in the face of such a battery vas
an act of tonîerity that few players, wo thiuk,
would have had couragye for.

(e) Black fails te makeo the xnest of bis fine
attacking position. Freont this point the advantage
la altogether on the side of White.

(f ) Black's game is now completely brok-en
up, and we do not se a good move for him on
the board.

(g) The winning move.

(A) Thireateniug, if Black ventured to take the
R B, te %çin at least one of the Rooks imniediately.

(i) RIe bad suroly a botter move than this.

(k-).Q It te R Rt sq 'would have been much
botter, but Black's gaine is hopeless, play what
he will.

(Z) After titis, ail hope for Black la gone.

n7ird gaine bet'icenes fssrs Leitla andR1ansom.

(KJ«a8 Defence in ti.e Kl3isho»s Opening.)

WEITE (Mfr. L.)

1 P teRK4th.
2 K Bt Q B 4tb.
3 P> te Q 4th.
4 P takes Q F.
5 F tak-es P.
6 R Rt te B 3d.
.7i FtoQ B d.
8 Castlos.
9 B te Q Kt Scd.

10 Rt te Q4ith.
Il Kt talies B.
12 Pte Q B4th.
13fBltakes P.
14 R te R sq.
16 Q B te R Sd.

13LACK (Mfr. R.)

F te R 4tb.
ERKt te B sa.
PFto Q4th (a)
Rt takes F.
Q B te R sa.
B te 1:2d.
p te QB Sa.
P te QKt 4th (b)
QKtto R 3d.
Qte Q B 2d. (c)

P takea Rt.
P takes P. (d)
Q Rt te Q B 4th.
(Jasties on K side.
Q Rt te Q 2d. (C)

16 Q B3 te Q 4th.
il Q toXKt4th.

18 Rt to Q 2d,
19 QR te Q B Sq. (g)
20 Qte K R Sth.
21 Rt te K B 3a. (11)
22? te R Rt 3d.
23 Q to KRt 4tli.
24 P te R R 4th. (i)
25 P te Q Rt 3d.
26 K to Kt 2d (1)
27 R takes Q Rt.
28 Rt takes B.
29KX to Rsq.
3O0R teRXB sq.
31 ~R takes R.
32 Q takes Q P. (ch)

flore Whîite, strangely enoughi, overloolzed the
snîetheî'ed mate 'whieh lie mighit have given in
two inves, (o) and tho gane was carried on as
follows.
33 Kt toKXB Ith. (ch) K teKt sq.
84 Qt Q B Sth. (eh) B to Qsq.
35 Q tak-es B. (Ch) Q takes Q.
36 Rt tak-es Q. (dis. cli) K te B Sq.
37 XL takies Q BP, and wins.

Notes.

(a) Losing a PFat the very outset 1
have played 3. F takes P.

Hie should

(b) Thtis is ti5elessly -wealeening, bis flanit.

(c) This sllows White te isolate one of Black'a
pawns.

(d) flore, again, Black bas te subant te thO
isolation of another F.

(e) lIe evidently date net talce the K F.

(f) Far botter te have talion the RFP with this
Kt, by ivhich ho would have gaincd a F and a
capital position.

(g) Overloolting the obvieus move by -which
Blacit threatens te win the Q B.

(A) &'<The day after the fair."

(i) White's position at this crisis is a difficult
one; but ho mhteasily have mnade a better
ineve than that in the test. Why net have played

Qte R 4th, proeccting the R F?

(k) Again b- inight bave woen tl*3 R F and
mrade bis gs.,ýe sure, being a pioce a-lead. The
move =a doos net sein te us a good one, as
White xniglt have satisfaétorily answered with,
25. B te Q 3d, leaving the Rt F en p rise.

(1) Thtis is useless. fils only chance vas to
take off the Rt 'with B.

(m) fiere ]3lack's love of finessing ecarly leses
tho gane. Ilaving several turnes neglected tak-
ing the RFP when ho mighit have donc se with
advantago, bo pays dearly for capturing it now.
Rad ho played the natural move of 26. R takes
Rt, nothing could have saved Wbites gaine.

(na) Much botter te bave played the Q bore.

(o) Tho student will easily discever how.
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Q R te Q Eq.
R te K B3 4th.
Q Rt 1e K B sq.(f
R te K 13 Sd.
R tak-es QB.
R te K B ùth.
'R to K B 4th.

QKt to R Kt 3d.
Qte lier Kt 3d. (k)
QR te K B sq.

KRttakes K . (n
R takes R.
Q takes K BP. (ch)
R to K B 3d.(n
Q te lier 'jth.
Kt takes R.
K to R Sq.


